
P. T. O.S-3/M.Com.-08

Total No. of Printed Pages : 7	 Roll No.................

m. Com.-08
Cost and Management 

Accounting
ykxr ,oa izcU/ ys[kkadu

Master of Commerce (M. Com.-10/16) 
Second Year, Examination-2020
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Note :	 This paper is of Eighty (80) marks divided 

into Two (02) sections A and B. Attempt the 

question contained in these sections according 

to the detailed  instructions given therein.

uksV %	 ;g iz'u i=k vLlh (80) vadksa dk gSA tks nks (02) [k.Mksa 
d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn, x, 
foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy dhft,A

Section-A/[k.M&^d*
	 (Long Answer type Questions/nh?kZ mÙkjh; iz'u)

Note :		 Section-‘A’ contains Five (05) long answer  

type questions of Twenty (20) marks each. 

Learners are required to Answer any two (02) 

Questions only.	 (2×20=40)
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uksV %		 [k.M&^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, chl (20) vad fu/kZfjr 

gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy nks (02) iz'uksa ds 

mÙkj nsus gSaA

1.	 What is meant by ABC analysis ? Describe their 

advantages.

	 ,chlh fo'ys"k.k ls D;k vk'k; gS\ buds ykHkksa dk o.kZu 

dhft,A

2.	 What are the general features of Process costing? 

Differentiate between Job costing and Process 

costing.

	 izfØ;k ykxr fof/ ds lkekU; y{k.k D;k gSa\ midk;Z 

ykxr fof/ rFkk izfØ;k ykxr fof/ esa vUrj dhft,A

3.	 What do you understand by idle time?  

Distinguish between Normal and abnormal idle 

time. How will you deal with each of them in 

Cost accounts?

	 fuf"Ø; le; ls vki D;k le>rs gSa\ lkekU; rFkk 

vlkekU; fuf"Ø; le; esa vUrj crkb,A ykxr ys[kksa 

esa budk ys[kk fdl izdkj djsaxs\
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4.	 A Small Industrial Company has a sales level of 

 8,40,000 with 10% profit margin before interest 

and taxes. To sustain this business, the firm 

maintains a fixed asset investment of  3,00,000 

and  1,50,000 as current assets.

	 (a)	 Compute the assets turnover of the firm.

	 (b)	 What is the rate of EBIT on investment ?

	 (c)	 What will be the rate of return if current 

assets increased by  1,50,000 ?

	 (d)	 What will it be if current assets decreased 

by   75,000 ?

	 ,d NksVh vkS|ksfxd dEiuh dk fcØh Lrj   8]40]000 

gS ftl ij C;kt ,oa dj ds iwoZ ykHk dh nj 10» gSA 

O;kikj ds fy,] iQeZ LFkk;h lEifÙk;ksa esa  3]00]000 

vkSj pkyw lEifÙk;ksa esa  1]50]000 dk fofu;kstu djrh 

gSA

	 (v)	iQeZ ds lEifÙk vkorZ dh x.kuk dhft,A

	 (c)	 fofu;ksx ij EBIT nj D;k gS\

	 (l)	 vk; dh D;k nj gksxh ;fn pkyw lEifÙk;ksa dks  

 1]50]000 ls c<+k;k tk,\

	 (n)	 pkyw lEifÙk;ksa dks  75]000 de djus ij D;k 

nj gksxh\
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5.	 M/s XY Bros. furnishes the following details for 

the year ended 31st December, 2018 for preparing 

the income statement of the year :

	 Sales 10,000 units @   10 per unit.

	 Fixed manufacturing cost   22,000

	 Variable manufacturing cost   11,000 units

	 @    6 per unit

	 Selling and distribution expenses :

	 Fixed		    5,000

	 Variable 	    4,000

	 You are required to prepare Profit & Loss 

account, for the use of management according to 

(a) Marginal cost approach, and (b) Absorption 

Cost approach.

	 eSllZ ,DlokbZ cznlZ 31 fnlEcj] 2018 dks lekIr 

gksus okys o"kZ ds fy, vk; fooj.k rS;kj djus ds fy, 

fuEufyf[kr lwpuk;sa nsrh gS%

	 foØ; 10]000 bdkbZ  10 izfr bdkbZ nj ls LFkk;h 

fuekZ.kh ykxr  22]000

	 ifjorZu'khy fuekZ.kh ykxr 11]000 bdkbZ  6 izfr 

bdkbZ nj ls 
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	 foØ; ,oa forj.k ykxr%

	 LFkk;h		   5]000

	 ifjorZu'khy 	  4]000

	 izcU/dksa ds iz;ksx ds fy, (v) lhekUr ykxr mixeu 

vkSj (c) vo'kks"k.k ykxr mixeu ds vuqlkj ykHk&gkfu 

[kkrk rS;kj dhft,A

Section-B/[k.M&[k

	 (Short answer type questions/ y?kq mÙkjh; iz'u)

Note : 		 Section-B Contains Eight (08) short answer 

type questions of Ten (10) marks each. 

Learners are required to Answer any four 

(04) questions only.	 (4×10=40)

uksV %		 [k.M&^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x, 

gSa] izR;sd iz'u ds fy, nl (10) vad fu/kZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy pkj (04) iz'uksa ds 

mÙkj nsus gSaA	

1.	 Define the Cost accounting. Explain its 

objectives.

	 ykxr ys[kkadu dh ifjHkk"kk nhft,A blds mís';ksa dk 

o.kZu dhft,A
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2.	 What are the important requirements of the 

system of Material control ?

	 lkexzh fu;a=k.k iz.kkyh dh egÙoiw.kZ vko';drk,¡ D;k 
gksrh gSa\

3.	 Explain the different methods of classification of 

Overhead.

	 mifjO;;ksa ds oxhZdj.k dh fofHkUu fof/;ksa dh O;k[;k 
dhft,A

4.	 What are the main features of Job Order Costing  ? 

Describe briefly the procedure of recording costs 

under Job Order Costing.

	 midk;Z ykxr fof/ ds eq[; y{k.k D;k gSa\ midk;Z 
ykxr fof/ ds vUrxZr ykxr fu/kZj.k dh fØ;kfof/ dk 
la{ksi esa o.kZu dhft,A

5.	 Discuss briefly the objectives of Budgetary 

control.

	 ctVjh fu;a=k.k ds mís';ksa dk la{ksi esa o.kZu dhft,A

6.	 What is meant by Standard Costs ? How are the 

Standard fixed ?

	 izeki ykxr ls vki D;k le>rs gSa\ fdl izdkj izeki 
fu/kZfjr fd, tkrs gSa\
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7.	 What do you understand by ‘Horizontal’ and 

‘Vertical’ analysis ? What precautions should be 

taken while using them ?

	 ^{kSfrt* ,oa ^yEcor* fo'ys"k.k ls vki D;k le>rs 
gSa\ budk iz;ksx djrs le; fdu&fdu lko/kfu;ksa dks 
è;ku esa j[kuk pkfg,\

8.	 What do you understand by the term ‘Break-

even point’ ? Why should it be calculated ?

	 ^le&foPNsn fcUnq* 'kCn ls vki D;k le>rs gSa\ bldh 
x.kuk D;ksa djuh pkfg,\

*******


